EXAMINATION 2017, GRADE 8 Model
SCIENCE PART — A (Objective Type) Paper 1
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General Instructions: e ligds”
1) Read carefully and attempt all questions.
-q/d’:,myrﬁmu:’ga_/i_v

2) Encircle the correct option of each MCQ as shown in the example below.
—e WUt e e S @u’l;/,.,lﬁé‘ LZJir & 2 -
Example: Which of the following gases causes greenhouse effect?
te G os§eliusi S A sl e st gt

(a) oxygen ‘ffff (b) nitrogen W3V
(c) hydrogen Sk methane Nl

3) Use black/blue ink for writing. Use of lead pencil is not allowed.
-‘aujaﬂglJJW!&&({.Q’/UWI(J[%/&/JK% LAy
4) If more than one option is encircled in a question, no mark will be given.

bl A0 S L ezt Lt

Total Marks: 48 | Part-A (Multiple Choice Questions) | Total Time: 1 Hour

~WALS Ly -t ety 80 B2)UF U o i
Instructions: -Thirty two (32) Multiple Choice Questions (MCQSs) are given in this part. Each
guestion carries 1.5 marks.
Q. No.1. Which of the following is NOT a part of the forebrain?

vg_ﬁf Kef 8 o e S5 s a0
(a) Cerebrum i (b) Cerebellum f-’%
(c) Thalamus JE (d) Hypothalamus 1%
Q. No.2. A tube which arises from kidney and enters the urinary bladder is called:
:q_awﬁg_&gJ/Qdﬁjg»@_éﬁcg;)}.,«f
(a) urethra -, (b) cortex S
(c) ureter y (d) medulla Ushr
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Q. No.3. Cleaning of blood by artificial method is called:

e bUE Slokyf e &b 7~
(a) dialysis s (b) transplant S K
(c) lithotripsy i (d) cloning kK

Q. No.4. Which of the following cells are produced by meiosis?
S s S 5.1 L-Ul( = tJ Skt

(a) Skin cells E L e (b) Gametes K Sui
(c) Cone cells Kyl (d) Heart cells LU
Q. No.5. Thread like structures present in the nucleus of a cell are called:
QW P Mt g L
(a) DNA PRI (b) RNA P
(c) Genes P (d) Chromosomes »sss./

Q. No.6. Which of the following steps does NOT happen during DNA replication?
%’Mﬁ’)’/l/u:(ulu)d:uﬁ[&uJDN Ac:.uﬁgz},;uﬂ

(@) Unwinding of double helix structure R UA L =L S o
(b) Production of carbohydrates L'}.Ku?/ifu/{
(c) Separation of both the strands Eor 62 s

(d) Production of new strands in front of the old ones  ti7k; > & & Lok 41y
Q. No.7. Which of the following organisms is used as a transgenic organism in production of insulin?
S"Lb'xdlf‘;"l/,u”ér‘f,ﬁuéf l}u’:Ll‘aerlr'f,/Tl/uf LU:J. 3t
(a) Bacteria | 2& (b) Virus 71 (c) Mushroom (s~ (d) Algae ¢
Q. No.8. Dengue fever is spread by which of the following mosquitoes?
?‘Lb'ﬂg/lkuéf/fl/u/cutdiy/#
(a) Male aedes k17 (b) Female aedes 2400l
(c) Male culex S (d) Female culex S
Q. N0.9. Which of the following gases causes air pollution?
9%8'J(&)T‘ﬁnufdu;(¢‘ﬂu‘vf SEIV-2
(@ N2 (b) H2 (c) O (d) NO
Q. No0.10. Which of the following gases cause greenhouse effect?
9‘,[}’6}..)‘ K&Q.lJfLQ;uffwféufJ,);/ﬂ

(@ Clz;and H (b) O2and N2
(c) H2O and CH4 (d) Heand O3
Q. No.11. Which of the following is the cause of skin cancer?
:‘a.y;‘f /::( Lo S5t
(a) Global warming s S (b) Ozone depletion S Sl
(c) Acid rain J;gdu Vi (d) Greenhouse effect _u?ﬂuu’sgqf

Q. No.12. Which one of the following is an example of chemical reaction?

e Jed P = it

(a) Breakage of glass e (b) Burning of wood k59
(c) Cutting of wood el (d) Melting of ice Iy
Q. No.13. XN,+3H, —» 2NH;

The above equation is balanced when:
!-.ae‘aanu;’l}"al;l/&(d:/';l
@ x=1 (b) x=2 (c) x=3 (d) x=6
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Q. No.14. The example of decomposition reaction is:
e SR
(@ CaCO3; — CaO +CO,
(b) Mg+ 2HCIl — MgCl, + Ha
(c) HCI + NaOH — NaCl + H,0
(d) 2Na + Cl, — 2NaCl
Q. No.15. Which one of the following gases is produced by the reaction of sulphuric acid and iron?

?C‘-G.!U'zf(_f!((-U:J.)',.?JWLJQZ:C‘_}‘A'H’&CXEP

(a) Oxygen T (b) Flourine [P
(c) Hydrogen — ¢Rw (d) Chlorine S
Q. N0.16. The solution which turns litmus from blue to red is:
=9o)‘9k:/@/ I Jﬂ &r2fb
(a) Ca(OH). (b) NaOH (c) Na,COs (d) HCI

Q. No.17. Weight of a table is 500N. The area occupied by it on the ground is 1m?2. The pressure exerted
by it on the ground is:

Se B 2L gt ys SAm el e SO0N UK 2k
(@) 50 Pa (b) 100 Pa (c) 500 Pa (d) 1000 Pa
Q. No.18. All of the following statements are true for liquid pressure EXCEPT:
:Llrwuu:«l&.(l}’i Sossr i L /'Z./,Lét

(a) Itincreases with depth Sy (A
(b) It decreases with depth bt AL
(c) It acts perpendicular to the surface LLL?'/'/ s d;r‘/ﬁ/ -
(d) It acts equally in all directions et/ S Lister s

Q. No0.19. In which one of the following things is gas pressure used in its working?
?‘gt‘ndb‘;lK/f.{}JfgﬂL/("KZ:zJ(Luij,g/#

(@) Jack el (b) Hydraulic lifter Pl
(c) Hydraulic press = ;{4 (d) Pneumatic hammer 1555 o
Q. N0.20. The unit of mass is:
LU
(a) kg (b) m (©) m? (d) dm?

Q. No.21. Which of the following instruments is used for measuring length?
?‘Lt’ndWlééébéwJTlru)/cuﬁJjg/xf

(a) measuring cylinder SF & (b) flask L1
(c) beaker & (d) metre rule S
Q. No0.22. The greatest source of energy for our earth is: i ailie BN Ltibla
(@) coal kY (b) sun s
(c) food 5 (d) diesel Jzs
Q. No0.23. Railway tracks are laid with gaps between them for thermal ----—---———-
BT 2 — A7t e nlug sts
(a) expansion %4 (b) conductivity Jui
(c) contraction 54 (d) transformation =3
Q. No0.24. The liquid used in thermometer is:
e DM S v 3
(a) acetone SER (b) water dy
(c) benzene L (d) mercury $Sr
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Q. No.25. Identify the lens given below.

sl AL g
(a) double convex T
(b) double concave gy
(c) concavo-convex TN »

(d) convexo-concave A ﬂ
|

Q. N0.26. In the given figure image is formed beyond the retina. This defect is known as:
:ujgfﬂdl_‘a@éétbélgﬁ/"ﬁé(d;

(a) short-sightedness ¢ 4./}

(b) long-sightedness (2.4 -
(c) cataract s e
(d) glaucoma ¥

Q. No0.27. The lens used in magnifying glass is:
:q.t'n}::.}ﬂl;;_ndlﬁ’lufg/l{jl’:é’
(a) double concave g3 (b) double convex S

(c) concavo-convex N (d) convexo-concave T
Q. No0.28. Which one of the following types of energy production is NOT environment friendly?
‘-"au‘_j :/»Jil.l?ﬁ«.(&/'ld?: J( :..uﬁgb,;uﬂ

(2) Nuclear energy G.145% (b) Hydal energy S
(c) Wind energy S r1les (d) Solar energy Gy
Q. N0.29. The basic component of an electronic system is:
:‘L;'].d;.l.}.(("'/ 3 )
(@) amplifier Hod (b) processor sy
(c) telescope a4 (d) transistor =

Q. N0.30. The device Whiéh converts A.C to D.C is a/an:
ie e bt/ JED.CTA.C2IT
(a) amplifier PN (b) telescope <&
(c) diode 3705 (d) processor ¥y,
Q. No.31. Continuous reporting of the position of a satellite is called:

:+8M L /J,’/J’J/ i ﬂ/{,’ J. e

(a) monitoring LAy (b) reporting Loy
(c) watching 15 (d) tracking Y

Q. No0.32. Accurate weather report is possible with the help of:

-‘Ld? L)AJ ————————— TV d/ ( v

(a) satellites Nl (b) microscopes (25K
(c) telescopes B (d) spectroscopes (e sHE
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